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L	
   L	
  s1	
   s2	
  

1) ν1(s1=0) = 0 �
2) ϕ1(s1=0) = 0 �

3) ϕ1(s1=L) = ϕ2(s2=0) �
�
4) Μ1(s1=L) = Μ2(s2=0) �
�
5) ν1(s1=L) = 0 �
6) ν2(s2=0) = 0  �
�

7) ν2(s2=L) = 0 �
8) Μ2(s2=L) = 0 � Parte	
  sinistra	
  :	
  

ν1(s1) = (-qs1^4/24EJ)+(C1s1^3/6)+(C2s1^2/2)+C3s1+C4 �
�
Parte	
  destra	
  :	
  

ν2(s2) = (-qs1^4/24EJ)+(d1s1^3/6)+(d2s1^2/2)+d3s1+d4 �
�

1) ν1(s1=0) = 0         C4 = 0 �

2) ϕ1(s1=0) = 0         C3 = 0 �

3) (-qL^3/6EJ)+(C1L^2/2)+C2L+C3 = d3 (1)	
  
4) EJ*χ1(s1=L) = EJ*χ2(s2=0)        (d^2ν1/ds^2)(s=L) = (d^2ν2/ds^2)(s=0)        (-qL^2/2EJ)+C1L+C2 = d2 (2)�
5) (-qL^4/24EJ)+(C1L^3/6)+(C2L^2/2)+C3L+C4 = 0  (3)�
6) ν2(s2=0) = 0        d4 = 0 �

7) (-qL^4/24EJ)+(d1L^3/6)+(d2L^2/2)+d3L+d4 = 0 (4)�
8) EJ*χ2(s2=L) = 0        (d^2ν2/ds^2)(s=L) = 0        (-qL^2/2EJ)+d1L+d2 = 0 (5)�
      �

�

	
  	
  
(2)	
  (-ql^2/2EJ)+C1L+C2 = d2        C2 = (ql^2/2EJ)-C1L+d2 �
(3) (-ql^4/24EJ)+(C1L^3/6)+(ql^4/4EJ)(C1L^3/2)+(d2L^2/2) = 0        (-C1L^3/3) = (5ql^4/24EJ)-(d2L^2/2)        C1 = (5ql/8EJ)+(3d2/2L)   �

% % % % %             C2 = (ql^2/2EJ)+(5ql^2/8EJ)-(3d2/2)+d2        C2=(-ql^2/8EJ)-(d2/2) �

(5)	
  (-ql^2/2EJ)+d1L+d2 = 0        d1 = (ql/2EJ)-(d2/L) �
(1)	
  d3 = (-ql^3/6EJ)+(ql^3/16EJ)+(3d2L/4)+(3ql^3/8EJ)-(d2L/2)        d3 = (ql^3/48EJ)+(d2L/4) �
(4)	
  (-ql^4/24EJ)+(ql^4/12EJ)-(d2L^2/6)+(d2L^2/2)+(31ql^4/48EJ)+(d2L^2/4) = 0       (33ql^4/48EJ)-(7d2l^2/12) = 0        d2 = -3ql^2/28EJ�

% % % % % % % % % %     d1 = 17ql/28EJ�

% % % % % % % % % %     d3 = -ql^3/168EJ�

% % % % % % % % % %     C1 = 13ql/28EJ�

% % % % % % % % % %     C2 = -ql^2/14EJ�

�

�

�

% % % % % % % % % %     �

νs1 = (-qs^4/24EJ)+(13qll/28EJ)(s^3/6)-(ql^2/14EJ)(s^2/2) �
ϕs1 = (-qs^3/6EJ)+(13ql/28EJ)(s^2/2)-(ql^2/14EJ)s�
Μs1 = qs^2/2-13qls/28+ql^2/14 �
Τs1 = qs-13ql/28 �
�

νs2 = (-qs^4/24EJ)+(13ql/28EJ)(s^3/6)-(3ql^2/28EJ)(s^2/2)-(ql^3/168EJ)s�
ϕs2 = (-qs^3/6EJ)+(17ql/28EJ)(s^2/2)-(3ql^2/28EJ)s-(ql^3/168EJ) �
Μs2 = qs^2/2-17qls/28+3ql^2/28 �
Τs2 = qs-17ql/28 �
�

ϕ1(s1=L) = ϕ2(s2=0) �
(-ql^3/6EJ)+(13ql/28EJ)(l^2/2)-(ql^2/14EJ)l = _ql^3/168EJ  ✓�

Μ1(s1=L) = Μ2(s2=0) �
Ql^2/2-(13ql/28EJ)l+(ql^2/14) = 3ql^2/28  ✓�

�
	
  

?	
  

?	
  



νmax        ϕs1 = 0        s = 0 , (9/10)l        νmax = ν( s=(9/10)l ) �
�
ν1(s1=0) = 0          ϕ1(s1=0) = 0                 Μ1(s1=0) = ql^2/14     Τ1(s1=0) = -13ql/28 �
ν1(s1=l) = 0           ϕ1(s1=l) = -ql^3/168EJ      Μ1(s1=l) = 3ql^2/28     Τ1(s1=l) = 15ql/28 �
ν2(s2=0) = 0          ϕ2(s2=0) = -ql^3/168EJ     Μ2(s2=0) = 3ql^2/28    Τ2(s2=0) = -17ql/28 �
ν2(s2=l) = 0           ϕ2(s2=l) = ql^3/42EJ        Μ2(s2=l) = 0              Τ2(s2=l) = 9ql/28 �
 �
 �

Τ1s1 = 0          qs-13ql/28 = 0        s1 = 13l/28        Μ1 (s1=13l/28) = -57ql^2/1568 �
Τ2s2 = 0          qs-17ql/28 = 0        s2 = 17l/28        Μ2 (s2=17l/28) = -121ql^2/1568 �

τ : �
�
�
�
�
Μ	
  :	
  

---------(-13)ql/28�
---------(-17)ql/28�

---------15ql/28 �

---------9ql/28 �

---------ql^2/14 � ---------3ql^2/28 �

-------(-57)ql^2/1568 � -------(-121)ql^2/1568 �

2ql�

32ql/28 � 9ql/28 �13ql/28 �

ql^2/14 �


